
● ● ●● ●●● ●
●●

●● ●●●

●

●
●●

● ● ●●● ●● ●● ●● ●● ●● ●●●●● ● ●●● ●● ●● ●● ●● ●● ●●● ●●● ●●●

●

●● ●● ●● ●
●

●●●● ●●● ● ●●● ●●● ●●● ●● ●● ● ●●● ●●● ●●● ● ●

●
● ●●● ●● ● ● ●● ●● ●● ●●

●● ● ●●●
●● ●●● ● ● ● ● ●●● ● ●●● ●●●● ●●●● ●● ●●●●●● ●● ●● ● ● ●● ● ●● ●●● ●●●● ●● ● ●● ●● ● ●● ●

●●●
●●●● ●● ●

●
●●●

●

● ●●
●

●● ●● ●● ● ●●●●
● ●●●

●
●

● ●
●

●●● ●● ● ●

●

●●● ●●

−2 0 2 4

−8
−6

−4
−2

0
Observations

µlog,o [m3.s−1]

KG
E'

 o
n 

Q

(a)

●

●

●

µlog,s [m3.s−1]µlog,s [m3.s−1]
−5 − −0.5
−0.5 − 0.5
0.5 − 5

● ● ●● ●●● ●
●●

●● ●● ●

●

●
●● ● ●●●● ●● ●● ●● ●● ●● ●●●●● ● ●●● ●● ●● ●● ●●●● ●●● ●●● ●●●

●

●● ●● ●● ●
●

●●●
● ●●● ● ●●● ●●● ●●● ●● ●● ● ●●● ●●● ●●● ● ●

●
● ●●● ●● ● ● ●● ●● ●● ●●

●● ● ●●●
●● ●●● ● ● ● ● ●●● ● ●●● ●●●● ●●●● ●● ●●●●●● ●● ●●●● ●● ● ●● ●●● ●●●● ●● ●●●●● ●●● ●

● ●●
●●●● ●●●

●
●●●

●

● ●●
●

●● ●● ●● ● ●●● ●
● ●● ●

●
●

● ●
●

●●● ●● ● ●

●

●● ●●●

−4 −2 0 2 4

−8
−6

−4
−2

0

Simulations

µlog,s [m3.s−1]

KG
E'

 o
n 

Q

(b)

●

●

●

µlog,o [m3.s−1]µlog,o [m3.s−1]
−5 − −0.5
−0.5 − 0.5
0.5 − 5

●
● ●● ●●
●

●

●●

●● ●
●
● ●

●●
● ● ●
●● ●●
●● ●●

●●

●
●

●●
●

●●

●

●●
●

●
● ●● ●● ●●

●● ●●
● ●●● ●

●● ●
●

●● ●

●

● ●●●

●

●●●
●

●●
●

●●
●

●

●

●

●●
●● ● ●

●

● ●●●

●
●

●

● ●

●

●

●

●

●
● ● ● ●● ●● ●●

●
●●

●
●

●

●

●

●●

●

●● ● ●
● ● ●●● ●

●
●

● ●●●●
●●

●

●

●

●

●●●●
●● ●

● ●●
● ●

●
● ●

●●
●●

●

●

●●● ●● ● ●
●

●● ●
●●

●

●

●
●

●●●

●

●● ●

●

●●

●

●

● ●●

●

●●
●
● ●●

●
●●

●●●
●●
●

●

●

●

●

●

●
●

●
●

●
●

●
●
●
●

●●

−2 0 2 4

−8
−6

−4
−2

0

µlog,o [m3.s−1]

KG
E'

 o
n 

Q
−1

(c)

●

●

●

µlog,s [m3.s−1]µlog,s [m3.s−1]
−5 − −0.5
−0.5 − 0.5
0.5 − 5

●
● ●● ●●
●

●

●●

●● ●
●

● ●
●● ● ●●

●● ●●
●● ●●

●●

●
●

●●
●

●●

●

●●
●

●
● ●● ●● ●●

●● ●●
● ●●● ●

●● ●
●

●● ●

●

● ●●●

●

●●●
●

●●
●

●●
●

●

●

●

●●
●● ● ●

●

● ●●●

●
●

●

● ●

●

●

●

●

●
● ● ● ●● ●● ●●

●
●●

●
●

●

●

●

●●

●

●● ● ●
● ● ●●● ●

●
●

● ●●●●
●●

●

●

●

●

●●●●
●● ●

● ●●
●●

●
● ●

●●
●●

●

●

●●● ●● ●●
●
●● ●

●●
●

●

●
●

●●●

●

●●●

●

●●

●

●

● ●●

●

●●
●

● ●●

●
●●

● ●●
●●
●

●

●

●

●

●

●
●

●
●

●
●

●
●

●
●
●●

−4 −2 0 2 4

−8
−6

−4
−2

0

µlog,s [m3.s−1]

KG
E'

 o
n 

Q
−1

(d)

●

●

●

µlog,o [m3.s−1]µlog,o [m3.s−1]
−5 − −0.5
−0.5 − 0.5
0.5 − 5


